Fill in each of the following with the appropriate formula.

1 = (x) =

a oxy -
2 dx(e J=

d
3. — (lfix) =

i
4. a(smx) =

d
5 — (cosx) =

d
6. - (tanx) =

d
7. = (secx) =

d
8. = (cscx) =

d
9 == (cotx) =

d .
10. == (arcsinx) =

d
1. — (arctanx) =

d
12 == (arccosx) =




_ BASICINTEGRATIONFORMULAS

Fill in each of the following with the appropriate formula.

I fdx =

]

. J &5dE

5 f%dx=

4. | sinxdx =

9]

. J cosxdy=

6. [ sec?xdx=

7. [ secxtanxdx =

8. [ cscxcotxdx =

9. [csc?xdx =

dx
Vi-x2

10. |

98, ot

1+x2

-1
12, fmdx =




